1D pull distribution
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Adet RMS (ppm)
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reg_asym_us_avg (ppb)

1D pull distribution
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reg_asym_us_avg RMS (ppm)
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reg_asym_usr RMS (ppm)

l—l

____________
N o © ©
< < (9¢] ™
— — — —

(wdd) sy

<
™
-

[N
™
—

___
o
™
—

e8]
N
i

©
N
i

0'018¢
6'608€
8'608¢
1’608
9'608¢
§'608¢
¥'608€
£'608¢
2'608¢
T'608¢
0'608¢
1'808€
9'808¢
§'808¢
¥'808¢
£'808¢
2'808¢
1808
0808¢
€',08¢
2°L08¢e
T',08¢
0',08€
6'908¢
8'908¢
1’908
9'908¢
§'908¢
¥'908¢
€'908¢
2'908¢
T'908¢
0908¢
8'508¢
£'508€
9'508¢
§'508¢€
¥'308¢€
€'508¢
2'508¢
T'508¢
0's08¢
6'708¢
8'708¢€
1'¥08¢
9'v08¢
S'v08€
'¥08¢
£'708¢
2’708
T'v08€
0'v08¢
0'€08e



g 8§ ° ° ° © 8 3
3 S 3 N 8 8
o o < H a S
H H o 8 ° + -
< 0 i H @ -
8 3 - 5 g .
g = g & .
o S
? 3
> m 3 - € -1
c 8 5 2 K] g < o —]
c|§ = £ &8 7 5 § 5 —
o = 7] =] o < [} = n 1
=
>
E LA
s 3]
2 R -
© -
= [ ]
=] -
o
o
- =
PR TN T TN TN NN T T T Y L L by by T
< N o © < N o
- — -
N
©'wm
2]
AN —
S+ —— ]
N~ —_—— —
1o o)) — -
. — —
<| ——e——— —
(@] —— -
o — e —
Y —
° -
[ —— —]
-~ —— —
=) —e—— .
< o ——— .
— -
—~ —— -1
o) H—e— —
o — e ——— —
o — -
~ —— —
g —— -
35 —— —1
| | - .
— o—— —
m ——— —1
AWJ — -
a_ —— —
(o)) ——
o5 ——— -
—_ — -
—— -1
[EN A — —
—— —
—-— —
——— -
—— —
—— —1
—— -
—— —
———— -
L, .
I —
I —
——— -
-+

-4000 —




reg_asym_usl RMS (ppm)
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reg_asym_us_dd RMS (ppm)
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